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1. Information systems (IS) 
2. User Information Satisfaction (UIS) 
3. End-User Computing Satisfaction (EUCS) 



��
C��� ��D� ��E��F� ��$
? ���
�G�� �&H�


<8 T���7�� �� �
�#
� .�� �/
?'OP� �
?*�
�� ��?����� �
?��
�2� #� 0%?� 5?� ��<[4� 
*�7
 �� w�3� 
<<8 :5]�
;� I��
$<� � c���	 � �� .�����
?� �
?�� ��?�� �?�� ��
$<� ,�� ��

 5&.
c � ����� ���� T#�
�� m��P #� ������ �!�7�
$<� e!
) �������#� �)A7 T
?�� ��%� 
� (
�5�?� T
�$<?� IT
?+ ��?�2/ @Vt #� �
R 53;� _� 5� �
��� 5� 56%/ �
6 ,�� �� b�%?+

5]�
;� ������� �� _� �
?�� 
?� �
�� _� ������� 5]�
;� m��P #� ������ �!� �����
� �
��
 �Z�� ��
Z���� �� �%R �
 4� �?� T
�$<� b�%?+ ?�	 ��?���� �� ��� � c�� "�
?� ��?�����

�
�� ������� �!� �����
� �
 _� ��������� 1�����/ 5]�
;� m��P#� I�
?�� �?P �� �
?R
�� ����� 5� I��
�# T��� 
<<���.

�%!)oppz (5� ��
 8 �� �
�"������ �!� �����
� �
*�
�� �
<4+#�� �$<�n"��g��� 
�
�� ��
�+#�� ���� �� �V�
<�  g!� �����
� �
� w�3� �g���� �?� 
?<= .�?Z�� �OR�?� �%?!

 �� �?g���� g!� �����
� �
�� k� 1
�.%BR ��%� 
<4+#�� 5!%;� 5� I5.�' ��� ���Z����	
 T�?�� 56%/ 
*�7 �����
= ��� ��
?Z<� �?g���� g!� �����
?� �
?�� k?� e?��
; 2� � ���� ��

 �� ������ �� �
?�� �7 1
�.%B?R �
�
?�����
� 5?= �%+ ��
4&t 
��%/ ���� 
?<2� %?C� 5?� 

<4+#��)}*�(�
<4 �
?Q� ���� 
?<2� %?C� 5� ��� 1
�.%BR �
4��� ��%�#� � �
<� 56��

 
<+
� T��8 �
<� 56�� s
� �� �%R .�����
?� �
?�� 1
�.%B?R 
*</ 5� �<2� �Z�� 1�
V' 5�
�� �;&/ 
<4+#�� � }*� �� ��� 
� ������ �!� .%BR �7 �� 5�&� I
<<8�
?+ �?;&/ }?*� 1
 T

���iO�
=�
<4 �
Q� ��
<+
� T��8 d) .
�%! )oppz(:?t�� �� �%?R ����?	 �� 5?8 �%?� �]?8 ��?!�� 5?� T#
?� � ,#�� �
?� 

�
<4 �
Q� I� 5?6%/ I������ �!� �����
� �
*�
�� ������� ����� �� �7 #� T�
- ?�� T��?= 
e��./ �/
?'OP� } ]?�� _?� ��?����� ����#�
?�� ���?� 58 �%� 
; 2� �%! 5?� 5?6%/ 
?*<

 �/
'OP� �
�� _� 5�&� Ie]�� �c
8 �
�� �7 1
�.%BR#� �����
8 �
<4 �
Q�)5&46 #� �
�� 
������ �!� �����
�(�� 5 R
<+ ������ ��
Z<� �� �
?�� �7 1
�.%B?R �����
8 58 �%+ 5?�

 }*� 
*</)
<4+#��(�;&/
<<= �?�� T
?+ �?;&/ }?*� 1
�.%B?R �7 �� 5�&� IiO�
?= M
]?)� 
 �
Q�4<
<+
� T��8 �
.� ��� �%! #� @Vt 5 V!� 55?� ���Z�?���	 �?R�� 5? ���� � 5 ]6 �%P

 
1. Assessing the value of e-learning systems 
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1. technology mediated learning 
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1. Benchmarking 
2. LeVIS 
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1. Learners� Value Index of Satisfaction (LeVIS) 
2. Magnitude 
3. Constant levels 
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1. Course, Professor & Technology 
2. Learners� environmental support 
3. Classmate  
4. Technical support  
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